SI Code: 12_03 | 2017 [ANNUAL]
MATRIC EXAMINATION

Roll No. of Candidate:-........---
SSB - SOCIAL SCIENCE
grafoTe fasm

Total Questions: 30 Total Printed Pages: 08
[Time: 02 Hrs. 45 Minutes] [Full Marks: i&fli

etll & /32 AT

Instructions for the candidate:

1 qhunlf zer @ e vt § @ g 3/

Candidates are required to give“their auswers in their own words as far as

practicable.

2 ol ok @it w7 gy 3w qulE Affe wvd &)

Figures in the right hand margin indicate Jull marks.
3 & v s B
All questions are compulsory.

4 v 23wy qOunl e s a1 e vl
While answering, the candidate should adhere to the word limit as far as

practicable.

5 3w AT 97 @ g @ 2 15 fae @1 sfaRe wwg R mar &1

15 Minutes of extra time has been allotted for the candidates to read the questions.
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W 3w
General Instructions:

(i)

(ii)

(iii)

(iv)

(v)

(vi)

wra-ud dla g & faforr & foreny qy 30 wer Ry v 87 gu- A o gu- B
N HRE 20 WE gy~ C e yv -0 N gl 17 s o yu - F A 6 s
il &/

The question paper is divided into five Groups, in which there are 30
questions in all. Groups A and B carry 20 marks each. Groups C and D carry
17 marks each and Group I carries 6 marks,

19w 3 uvr o ah o @ g Ry 1o & - ag Yol v R wrt @) ¥
10w 4vil @ T wer-ax o Ry 10 Az 3 3} yae e &1 Ra v
»} 9fY wrn — gerw @ s wf) ) grr wew @

I mark questions are of two types — Multiple choice aud Fill in the blanks.
The answers of the Multiple Choice questions are o be selected Jrom the
options given in the question paper. Fillin'the blanks with appropriate words
according to the textbook,

2 9® 3wl v uft qg g &1 TRT wvT a1 ge sl 20 vt ¥ 2
]

2 marks questions are all Very Short Answer type. Answers of these questions
should not exceed 20 words each.

3 Rl 4 @) @ Wh wET T AT &) ARE 7T F TR IRBAT 50 FeA 60
wagt o a1 &/

3 marks or 4 marks questions are all Short Answer type. Answers of these

questions should not exceed 50 or 60 words each.

6 @l 7 Jat @ Wt ger D aoda @) waRE qvT 7 I AT 100 AT
120 Wt o 21 B/

6 or 7 marks questions are all Long Answer type. Answers of these questions
should not exceed 100 or 120 words each.

grAfa & wata wel a1 gav Adargar 3 )

The questions related to the maps are to be answered as directed.
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qu-3/GROUP - A

Ymri/HISTORY

AT 20/ MARKS : 20

Dirrifsn sgliweda vl A A wh e gr-
Choose the most appropriale option in the following multiple cholce question:
1w va ohe &) R @ smeeaa (A far

(%)
()

aforfi
e

(my fazna

()

Rfgm

“Blood and Tron” policy was adopted by -

()
(b)
(c)
(d)

Mazzim
Hitler
Bismarck
William

2 fufan oFh o RSP BT gu1?

o

(@)
(")
(®)

1967
1764
1773

1775

When was spinning jenny invented?

(u)
(b
(c)
()

1967
1764
1773
1775

(1)

()]
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afh e @ R wrE @ gfd w2 -

Srai R Gy o EIE— L § S

Fill in the blank with appropriate word:

Minimum Wages Act was implemented inthe year. .....................
#fl v § Ray v 6 gfd 31

aRwmAa . fewew

Fill in blank with appropriate word:

L L RS wasopposedin ...l
fromas s dcomtd 2

B 0@ e Iam A starfdreon @ afy s A A8
Answer the following question in 50 to 60 wotds:

Coal and Iron Industry gave a'boost te.industnalization. Explain.
Pt e o aevs0 Rreo et A 2

s wifd @ 5 1 IR # avta S

Answer the following question in 50 to 60 words:

Describe any two reasons of Russian Revolution.

et e &1 IR 50 R eo TRI A X

aré fofem 3 ey reiEA @ afEe @ $R

Answer the following question in 50 to 60 words:

Lord Linton gave progressive activeness to National Movement. How?

(1)

(1)

()

0)

@)
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p 9w e 100 A 120 R A A
nedaae o) ufdha | @) ard, e wd g g b o) yfdan A aat il (7)
Answer the following question in 100 10 120 words:

Discuss the mole of business cliuss, middle class and labour class in the process of

urthanization,
a1/ OR
WHSAE B R e ) o ) ard aRad a) e w5y
Describe the changes due to globalization in common man’s life,
79-9/GROUP - B
i/ GEOGRAPHY

IF : 20/ MARKS : 20

Previftvn agReda wel F @ Ry R
Chogse the most appropriate options in the following multiple choice questions:-
7 o Rwar fEr Qo 8 1)
(®) U wRn
(@) T
(m) ariies
(u) uwma

Among the following, where is soil found in vastness?
(a) Uttar Pradesh

(b) Rajasthan

(¢) Karnataka

(d) Punjab
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1o e arfn @t en U mem e @ £

(q) o ™

(1) STge

m) e

(u) @ Ne

Which is the most important raw material of cement industry”
() Lime stone

(b)y Bauute

(¢} Granite

(d) lron ore

TR [ A R e 0 ‘{1}1 Pl

(i) WA AN IWE e g ) (R @)
(i) WA N PUQ @ o v o w2y

Fill in the blanks with appropriate Words:
(i) Mathura oileehinery is situated in ................ state.

() e state is major producer of coal in India.

12 e T O IR w20 w2t Y 2
Answer the following question in about 20 words:
QIFEFAE FARN F G @ s 2

Why conservation of Natural Resources is necessary?
f
13/ 1 0 &1 SEY 50 W 60 Wl A 2

Answer the following question in 50 to 60 words:
yrela s araen A G an aa e &2

What is the importance of agriculture in Indian economy”?

(v,

®)

(3)
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fq-qmmmmﬂmnmiﬁ.

r the following question in S0 to 60 words:
ata M o e o it 17 @)

¥

Anawe
g g% A am ooy B2 gy A -

What de anderstand by Alluvial soil? Which crops can he gf
mmﬂmmnmmna

Answer the following question in 100 to 120 words:
i # IJ'_IP_';I 'ﬁ'ﬂfﬁﬁ syt Lt B 2 R o 6 & ey A I'?Jﬂ r

own in ths soil?

18
e
(7)

ns of Tea cultivations Name any three tea

urm a
faed
Dewnbe the main geographical conditx

producing states in India
T/ OR

‘J,,qf!qu q¢ et UE den A fiys womer iy 2 Sy Oy (r)

(W) wWTTA QT LR
() BYEET
(n) g
) wrch @D w0 oy
(g) fAvramaEam
Draw a geographical fap of India on full page and mark the following:
(1)  Rice producing arca
(i) Kolkata
(i) Chennal
(1v) Black sl arca
(vt Visakhapatnam
um /OR
dad vt vl @ g
Only for blind candidates:
qRa A @ Ad xr gt $

)
Descnibe cultivation of Tea in India
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=M /GROUP-C
AN w1 POLITICAL SCIENCE,
W A7 /MARKS 17
Pt wgleafin ua 3 @ wh) A 7.
Choase the most appropriate option In the following multiple cholce questions:

16 IO NRQ 07y @ v A g ) aga fen air? (v
(@) ala wy g

(@ W wd g
(m  amine g8
(@) R0 @ ay g g
Which political party got the majority of votes in the gencral election of 1977
India?
(1 Congress Party
(i) Bhartiya Janta Party
(iv) Communist Party
(v) None of the Pasties
17, 8FAE B W HyE-auRom §- (1)
(®) 3 &3 A
(@ wefea
(m wdu vam
(@) AT
Bad result of the beliel of regionalism is -
(1)  Attachment to your region
(1) Nationalism
(11i) National unity

(iv) Separatism
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8

19

21,

iy e T TR 20 vl A ¢

Answer the following question in 20 words:
rd P o A w2

What do you understand by secular state?

fry e 1 IO 50 N 60 T A T

Answer the following question in 50 to 60 words:
m%a‘rﬁaa‘aqﬁmm\meWﬁﬁrmﬁ &?
How do you sce the future of democracy in India?

e yE s amso Ao TR AL :

Answer the following question in 50 to 60 words:

sTaTaz dieas a1 g & A2

Terrorism is a challenge for'the democracy. How?

Prer g &1 e 100 A120 YT A T

Answer the following question in 100 to 120 words:

Tfas Tt @ v S @ |

Write about the main functions of political parties.
JA/OR

Fa1 e @1 apma didaa @ g e t‘?

Is lack of education a challenge for democracy?

@)

()

()

1)

")
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q9-3 /GROUP - D
svdwrE 7 ECONOMICS
IHB 17 /MARKRS: 17

Prenfn agfiwedn a4 wh Ao g -
Choose the most appropriate options in the following multiple choice questions.
22 fan 20 @ by ufvs o @ ae 2w oam deanm @ (1)
(¥) afdaxtha
() Prsths
(m) i Panthn
(@) g od o
A country whose national income i< high 1s called:
(a) Underdeveloped
(b Developed
(¢)  Developing
(d) Nonc of these
23w o @ avathe e n A fya mfeee (rmoam B2 (1)
(®) ym
(9) S
(m A
(W) g
Which among the following is included 1n direct tax?
(a) Income tax
(b) Excise tax
{c) Sales tax
(d) None of these
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2.

25.

A=t s m g s 20 TR A Y
Answer the following question in about 20 words:

T WG, Tre am Q? @
What is gross domestic product?

Pt oot 7 ST s0 A eo Rt A X

Answer the following question in 50 to 60 words:

R @fda Y qaa we) ) geor A gl A woofa o6 82 (@)
What influences a person's wish for savings?

Pt vt 1 SR oso A eo T A 2

Answer the following question in 50 to 60 words:

Rl iven A s au w87 av A IR B 8 &7 @)
What do you understand by financial institution? How many types of financial

mstitutions are there?

et o @1 SR 100 W 120 WRT H
Answer the following question in 100 to 120 words:
ferR @ wifts Redm @ Fr R & v @)
What arc the reasons for economic backwardness in Bihar? Explain.
JUAT/ OR
I D AT A AfrER 82wk B @)

What are the rights of a consumer? Explain.
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9 -¥ /GROUP -
INIET JqH — AHE - 6
DISASTER MANAGEMENT - MARKS - 06

fyenfam wgREedu g A af Rew g -

Choosc the most appropriate option in the following multiple choice questions:

28. ¥ A B wafow amrer A #2 (1)
(@) IR
(@) are

()
(@) s

Which among the following is not a natural disaster?
(a) Tsunami

(b) Flood fagr ai A ddfda maft srare,
(c) Earthquake mﬂﬁ ‘;IEETEIT:I ,Ugfé?ﬁ:,”
(d) Terrorism &8, 7
20 @ 1 wwHR @ e 42 mm%mﬁm )
(ai) mzf‘;'ﬁ.'m; Rt Qﬁmﬁ'ﬁiﬁ&

(@) wra wiva e
(m) W s

(@ A axd BSEBResult.In

What type of disaster is Drought?

(n) Natural disaster ﬂﬁzaﬁ-l @

(b) Manmade disaster
(¢) General disaster
(d) None of these
30. =1 e & I6v 50 A 60 WY N

Answer lhe‘folluwing question in 50 to 60 words:
G B HRY @ YN dad Jur a1 aols @ (a)
Explain the reasons and safety related measure for floods.

T
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